
1 https://jpw-catalog-qa-b2c-2.corevist.cloud/wb-25-base-and-motor-assembly
7/4/25

WB-25 Base and Motor Assembly
Product Images

https://jpw-catalog-qa-b2c-2.corevist.cloud/wb-25-base-and-motor-assembly


2 https://jpw-catalog-qa-b2c-2.corevist.cloud/wb-25-base-and-motor-assembly
7/4/25

Description

Index
Number Part Number Description Size Qty

1 WB25-201 Machine Base  1

2 WB25-202 Motor Plate  1

3 WB25-203 Rod  1

4 WB25-149 Hex Nut 1/2-12 3

5 WB25-205 Motor Adjusting Screw  1

6 TS-0720111 Lock Washer 1/2 1

7 TS-0060061 Hex Cap Screw 3/8-16x1-1/4 4

8 TS-0680061 Flat Washer 1/2 2

9 WB25-209 Motor 15HP, 230/460V,
3Ph 1

10 WB25-210 Motor Pulley  1

11 TS-0208071 Socket Head Cap Screw 5/16-18x1-1/4 3

12 WB25-212 Leveling Nut  4

13 WB25-213 Key 8x10x74 1

14 TS-0051051 Hex Cap Screw 5/16-18x1 4

15 TS-0720081 Lock Washer 5/16 4

16 WB25-216 Disc Brake  1

17 WB25-217 Pulley Bushing  1

18 VB-B73 V-Belt B-73 2

19 WB25-219 Brake Base  1

20 TS-0680041 Flat Washer 3/8 2

21 TS-0060031 Hex Cap Screw 3/8-16x3/4 2

22 6294280 Limit Switch  2

23 6294281 Limit Switch Plate  2

https://jpw-catalog-qa-b2c-2.corevist.cloud/wb-25-base-and-motor-assembly


3 https://jpw-catalog-qa-b2c-2.corevist.cloud/wb-25-base-and-motor-assembly
7/4/25

24 TS-0050021 Hex Cap Screw 1/4-20x5/8 2

25 TS-0680021 Flat Washer 1/4 2

26 TS-0270071 Set Screw 5/16-18x3/4 4

27 WB25-227 Bushing  2

28 WB25-131 Flat Head Screw M5x8 4

29 TS-0720071 Lock Washer 1/4 2

30 WB25-230 Brake Housing  1

31 WB25-231 Front Cover  1

32 WB25-232 Brake Lining  1

33 WB25-233 Brake Lining  1

34 WB25-234 Bushing  1

35 WB25-235 Spring  1

36 WB25-236 Inner Plate  1

37 TS-1514041 Flat Head Socket Screw M6x25 1

38 WB25-238 Pin  2

39 TS-1502051 Socket Head Cap Screw M5x20 6

40 TS-0720091 Lock Washer 3/8 7

41 TS-0561031 Hex Nut 3/8-16 2

42 TS-1503031 Socket Head Cap Screw M6x12 1

43 WB25-243 Gasket  1

44 WB25-244 Leveling Screw   

Additional Information

Stock Number 1790825-1

https://jpw-catalog-qa-b2c-2.corevist.cloud/wb-25-base-and-motor-assembly


4 https://jpw-catalog-qa-b2c-2.corevist.cloud/wb-25-base-and-motor-assembly
7/4/25

Products in this set

https://jpw-catalog-qa-b2c-2.corevist.cloud/wb-25-base-and-motor-assembly

